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Greenwich best, But other troubles and doubts awaited me.
Here is a sample of one. In south latitude, when the sun is in
northern declination, chronometer sights may be taken early in
the morning. |1took mine at eight o’clock. Now, one of the
necessary elements in working up such a sight is latitude. But
one gets latitude at twelve o’clock, noon, by a meridian
observation. Itis clear that in order to work up my eight o’clock
chronometer sight | must have my eight o’clock latitude. Of
course, if the Snark were sailing due west at six knots per hour,
for the intervening four hours her latitude would not change. But
if she were sailing due south, her latitude would change to the
tune of twenty-four miles. In which case a simple addition or
subtraction would convert the twelve o’clock latitude into eight
o'clock latitude. But suppose the Snark were sailing southwest.
Then the traverse tables must be consulted. “Why not? Because

Loughlinter —”
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